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fa/kRR e LE 1 1 K 34, 070 66, 930
Bl AR

MHEF B MR e e HIVP20 24 24 m 4, 248

MR MR B e e HIVP13 12 12 m 1,188

ZAERY = F LU 13A  {RIE/E3mm 24 24 m 6, 192

BrAE FHAE AR 2 1 1 X 18, 500

(ES R 1 1 &= 1,872

ENEE T

MR A v (FRN) HIVP 20 1 I m 1, 330
BHERY = F L 13A 24 24 m 19, 200
JEAMNEE T

MR A v (RS HIVP 20 23 23 m 18, 400
FRE) Y R UE 1 1 K 28, 000
THFEALHERT R LY 1 1 =X 2,070

) at] 34,070 66, 930

TR e L= 1 1 X 26, 200 16, 800
B AR

BEEAR Y = F L U 13A 19 19 m 15, 200

B AR R 1 1 K 9, 800

(ES &S] 1 1 K 1, 200

Bofs TSy

ZAERY = F LU 13A 19 19 m 15, 200
THRESLMERT B2 1 1 X 1, 600

U at] 26, 200 16, 800

AR LS 1 1 =X 108,440 286, 560
Bl AR

G e VU100 44 44 m 24, 024

T e VU75 200 20 m 7, 280

TR B VU50 15 15 m 2,790

B AR R 1 1 K 24, 000

EFEY 1 1 K 7, 500
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/INOVEEF K 100-150 3 3 f2 10, 740
7 7t 300 2 2 fH 6, 360
R 300 4 4 #H 10, 288
ENEE TR
EE I v (BN) VU75 2 2 m 7, 980
B EE (BN) VU50 13 13 m 34, 580
JEAMEE T
T e (B5h) VU100 44 44 m 142, 120
TR v (B4 VU75 18 18 m 44, 460
HE I i (B VU50 2 2 m 3, 420
IR K A 100150 3 3 » T 18, 000
k7 v T 300 2 2 »rHr 12, 000
AR A 2 300 4 4 T 24, 000
VHEEALHERT LY 1 1 =X 15, 458
) at] 108, 440 286, 560
AR ERIE LE 1 1K 24, 000 89, 000
H—F 23 R OUKKERE W=450, 900L 1 1 # 11, 330
H—F 2o O 1 1 # 6, 000
HokiE HOKFEBOX, T27NH13 1 1 # 3, 580
[N HOKFEBOX, T27NH13 1 1 4,500
Bl FH AR B S 2 1 1 fH 4, 000
Veliehs S B 1 1 A 10, 000
RV 2R A 2 1 1 # 14, 000
BRI 2 1 1 f# 2,500
Ve kb B 2 1 1 #A 10, 000
L=y NG 1 1 A 8, 000
AR T 1 1 # 5, 000
T a— N 1 1 A 25, 000
THRESLHER B2 1 1 K 9, 090
) 1] 24, 000 89, 000
FaKESIATE 1 1 K 4, 300 47, 560 74, 140 14, 000
Bl AR
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VPR =v 2 vk 75%20 1 1 A 10, 036
fififE vl & 5 HEF 20 4 4 & 16, 320
WIEFRATR =k ke 20 1 1 A 8, 952
A — & —B0X 20 1 1 A 5, 280
Javyy 2 2 @ 260
SGP-VB 20 3 3 m 2,670
HIVP 20 2 2 m 356
Bofs TSy
Sy IR HI T 75X20 1 1 7 Fr 29, 500
SRR T 75X20 1 1 »7fr 2,490
BT (REAK) H=0.6 20 2 2 m 11, 800
i an SGP-VB 20 3 3 m 10, 800
AU RV —THA T 75 1 1 77T 390
1R B T (BOXHRA 2 2519) 20 1 1 77 1, 500
PERE T 2 2 2 T 6, 000
PRIE T 1 1 K 4,500
HER S — hERE T 1 1 m 220
ALY T 4 4 m 1, 440
AR T 1 1 K 4, 000
L BBy 1 1 K 1, 500
AR B 1 1 AL 14, 000
THRESLMERT B 1 1 K 3, 686
&5 H e 1 1 fF 4, 300
) at] 4, 300 47, 560 74, 140 14, 000
DU MR 1 1 K 8, 000
AR R b, FAKEREREE ST 1 1 X 80, 000
BIEEe
EF A 136, 50014
A TR - TR A TRk 8, 7001
(& at] 84,300 240,270 533,430 8, 000 14, 000
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